Shenzhen Yongliansheng Hardware & Plastic Products Co., Ltd.
!ll Ms Lynn

Tel:+86-755-29410055 ext 255
Fax:+86-755-29410055 ext 200

Email: szymsb5@szyms. com cnszylslgw@hotmail. com

Website: http://www.cnyls.cn http://www. szyms. com
ADD: Room 1102, 4th Hongfa building, Bao’ an center, Shenzhen, Guangdong, China.

Mobile:+86-18200705716

FE | mE =h Hpr ik
Item P/N Picture Unit Remark
Y iﬁ JY-1(2PCS)
. Y . iﬁ. SET | +Me*25(1SET)
By~ [ JY-2(1PC)
2 JYJ-2 ‘ ’@ SET +JY-3(1PC)
: JY-2*1+4J¥-3"14M6-25"2 +M6*25(28ETS)
| T JY-2(2PCS)
3 JYJ-3 *d;{ SET +JY-4(1PC)
J‘(—?zaJV-mMMS-Z;iiV +M6*25(38ETS)
+ g JY-4(2PCS)
) Y4 @ SET | +M6*25(2SETS)

JY-4°24M6-252

L JY-1(4PCS)
> YIS x <3 SET | 4+M6*25(4SETS)

JTdas-25%

' - JY-7(2PCS)
6 JY)-6 4 “ SET +M6*25(1SET)

JY-7°2¢M86-25"1

! J\;, JY-5(2PCS)
. Y37 ’4\\ SET +JY-6(2PCS)
+M6*25(2SETS)

JY-5"2+JY-6"2+M6-25"2

JY-9(2PCS)
8 JYJ-8 gt SET +JY-140(2PCS)
ks +M6*25(2SETS)

I 25"




Material:
cold rolled steel
Thickness:
2.5mm
Surface treatment:
Black

electrophoresis/Clear/

Blue Zinc plated
Nickle plated
Chrome plated

n g

JY-10A(1PC)

9 Y39 SET +JY-10A(1PC)
JY-10A1+JY-108"1+M6-26™1 +M6*25(1SET)
JY-12(2PCS)
10 JYJ-10 4 SET +JY-140(1PC)
AT TIN5 +M6*25(1SET)
‘e JY-13(2PCS)
nal ﬂ; m SET | tMe25(1SET)
i JY-14(2PCS)
12 JYJ-12 | ﬁ}\ SET +JY-6(4PCS)
JY 4+ J-14"2oME-25°8 + M 6*25 (68 ETS)
g - JY-15(1PC)
13 Y13 ﬂ SET +JY-16(1PC)
I 14JV-16° 1 +MB-81 +M6*1280|t(1pC)
A' e JY-39(2PCS)
14 JYJ-14 f"- SET +JY-40(2PCS)
JY-39%1+ [Y-40=1 +M6-12#] +M6*12(1SET)
JYJ&
JY-8(2PCS)
15 JYJ-15 /R\ ,\' SET ME*25(15ET)
JYJ-16
A i JY-11(2PCS)
16 JYJ-16 ' M | SET ME*25(2SETS)
W
/ JY-17(2PCS)
S el /( J( SET | .M6*10(1SET)
. X JY-18(2PCS)
18 JYJ-18 v SET +JY-19(2PCS)
JY-18"2+JY-19" 2+M6-20"1 +M6*20(1SET)
N7E
/( . JY-26(1PC)
19 | JIvs19 9\» SET +JY-27(1PC)

JY-26"1+JY-27" 1+ ME-10"1

+M6*10(1SET)




20

JYJ-20

L3

SET

JY-30(2PCS)

_ +M6*25(1SET)
IY-30%2 1 ME-25%1
P A T
= JY-31(2PCS)
2l | v “ ® SET 1 1Me*25(1SET)
JY-31%24M6-25%1
] | M JY-37(1PC)
22 IY3-22 ﬂ qi SET +JY-38(1PC)
TV-37%14]Y-38%1 +M6-25%1 +M6*25(1SET)
23 i3 | L _Kn/ ¥ SET Box Off
24 JYJ-24 -QP— SET Box Off
[oav-2s |
[ JY-29(2PCS)
25 JYJ-25 R | ﬂ. SET |, Me25(15ET)
JY-29%2+M6-25%1
[z |
26 JYJ-26 I &3 SET JY35(2PCS)

J¥-35%2+ JY-140%1 tH6-25%1

+M6*25(1SET)




